B— 5 —7 )VEEE

=3

-

X

P o &

o

< T

oo ™

=
il
el

1122112111&
H
b
E
|

2l & _ R

[ 8 A

A A e

L L ..WJB.A ..b;ﬁﬂ

EEREEREED

N A S R < <

77_A~Jj__m_._u.n.ﬂ>n

R

i 1 ¥ & € € H 4 4 =
HE
Og

wg87654321=_h..




H— g —7 )VEEHE

30

29

28

21 EOyrv— 28 M8

26 FIyv— 14 M10

25 NATUITvv— 18 M16

24 Py v— 28 M8

23 SPIw S y— 14 M10

22 SPOw i v— 18 M16

21 VAV M 12 MI6x1.5 2f&
20 AARI b 28 M8 x 1.25 1=20
19 AR b 14 M10x 1.5 L=20
18 AR b 1T 6 M16x1.5 L=90
17 AR b 1T 12 MI6x1.5 L=110
16 PR 1 ST-BU 1/2-3/8
15 F—XiF 1 ST 3/8

14 HF 1 STN 3/8

13 =—y T, TIKR— 2 TR35-1/2%3/8
12 =y, THR— 2 1033-1/2

11 =y, TILHR— 6 1033-3/4

&S| & fh 2 M B | @% | EE {if =




40 AARNINA byii— 1

39

38

37 N H—hIN—E 1

36 N H—HN—D 2

35 N FH—HiN—C 2

34 N FH—hi\—B 1

33 N H—HiN— 2

32 HO—nyH— 1

31 AL 1 KS1-522-05-12
S| m fh % M H | A% | BEE i =




7 a— A —EE 1

60
59
58
57 EDyv— 12 M8
56 FoOwr— 26 M10
55 FoySp— 4 M12
54 Py — 12 M8
53 SPTyv— 26 M10
52 SPIy w— 4 M12
51 SPIw y— 18 M16
50 AET Y b 4 M12x1.5 3%
49 AARIL + 12 M8 x 1.25 =25
48 ARARL - 26 M10x1.5 L=25
47 ARARL - 4 M12x1.5 L=40
46 AR 1T 18 M16x1.5 L=100
45 FGYR=w T 2 PT1/8
44 % Cifi 4 H75
43 . ) | 4 NOK AE3045E0
42 A4 KAy FIya 4 SPB-557050
4 NoH—Tya 4 SPB-506050
ES| & AR % M B | B 2 fif




ﬂ
=T
T
g of
2 & L
mm+ e
K X =
« 1+ ¥
g F F
| | = ﬁ
SIS S RO O
b b b b b b KN =
™ o M = = = = = =
OS2 28 28y s
)]
e
4213131122&
i3
g
=
7 2 T 25 B S
LAy L
L2 < R Y Y v <| o
= = (2 Y o
2 H H X X X DD N
) Y A Y Y I < NI« Y
ww»wwaTWjan
™N DYDY DD DN D K KE
N N N N N AN N B
L L = = {4
B
08
098?654321%...
M~ O W v v O o v v o




7 a—~ H— R 2

90

89

88

81

86

85

84 Xoy TR MESPT vy v — 6 M10

83 *ry TR E 8 M6 x 1.0 =40

82 Xy TR b 6 MI0x1.5 1=25

81 KA TS T 6 1/4

80 ARG TS T 2 3/8

79 Tui oy 2 ST-BU 1/2-3/8

78 Fasasstf 1 ST-BU 3/4-1/2

17 TI)LR#EF 2 SSTL 1/2

76 F—RiBF 1 ST 1/4

715 F—XF 1 ST 3/4

74 F 1 STN 3/4

i3 —wFI, 45° 1 1035-1/4

12 —v 7L, 45° 2 1035-1/4

1A —v7NL, 45° 3 1035-3/8
EHS| & il & B OB | E# fis




A4 EYY 5~
iP5

100 Fy v TRIL b M20x 2.5 L=150
99 T STRN 3/8-1/4
98 =y FI, TIHR— 1033-1/4
97 =wFI, TIR— TR33A 3/8x1/4
96 =y FI, AbL—F TR13A 3/8x1/4
95 ——EL$ NB20SK
94 Bhk/ LD SK-G01-C5-GK-D2-5162H
93 ~R—27Bv 4B
92 fREEH/3—B
01 B H /N —A
&S| MW A % i &




7w — 0 —BEE 3

110

109

108 Fovv— 11 M10

107 FEIyv— 2 M20

106 Sy TR bAPT Y v— 2 M8

105 SPIy Ly — 11 M10

104 U+ b 1 M20x 2.5 2i&
103 Fr oy TR+ 4 M6x1.0 L=40
102 *r v TR 2 M8 x1.25 L=30
101 AR 11 M10x1.5 L=20
S| & A % W oH | B% | =8 i




7 v — B

120 EOyrv— 12 M10

119 Py v — 12 M10

118 ay iy 12 M10x1.5 L=25
117 ExJL—Fk 2 69

116 EvxFL—Fk 6 @15

115 Efoy FEY 2 40

114 £ U Sl —E b 2 ¢ 50

113 NH—EY 4 $ 50

112 2 O—MAJT ASSY 1

111 2 B—4 I ASSY 1

#=S| m A % M OB | @ £ i %




7 v — e

130

129

128

121

126

125 GYR=9w TN O0° ) 1 PT1/8 s MF = >V —{l
124 JYR=9 Tl 3 PT1/8

123 O s — 4 M8

122 POy — 4 M8

121 AR b 4 M8 x1.25 1=25
H5| @ AR % M B | E% | EE L] %




+ P B

hEml e — & —

f<..
B R =
”rl (B .1..\.‘ ™G S
R 22 AN b\
< N re =
/A . L.-

N/%JQL

!‘ru2!:¥|;
D)X

[
=
_
&
™ mE e
i =
" i
1 (3
g | | =
| B I
S S & g S
~ x & 8 =
i}
e
o e s B B I B e
=
4
=
T 1 =
N P 5
__;M _ i
I~ < 4
= K H O D S
77\7_._1%.?_
£|£.y+&/|nb_zb,
NN N KN H T .
.T.._A..—A.mw__._._:._%ﬂ
ool ] o D e
S W~ AN - -
W
og
mmmﬂ%%M%Mmmﬁ




Rl — & — - JRs i ER

160

159

158

157

156

155 ETyip— 1 M20

154

153 ¥y TR RPT Y v — 18 M12

152 mA 4 M6x1.0 L=20
151

150

149 Fr v TR 4 M12x1.5 1=35
148 Fvw TR 4 M12x1.75 L=35
147 *vw TR b 10 M12x1.5 L=hb
146 RARL 1 M20x2.5 |=45 ;BEiNTHY
145

144 —wFn. AkL—F 1 1013-1/4

143 —vF, AkL—F 2 1013-3/8

142

141

&S| o AR 3 M 8 | A% = i &l




ERCT

/S FHIEPHSE

Y SLAVIVE

GCO

170 AAIWNAL—F— 1

169 AL4 LRy F 1

168 BEIR T 1

167 BT 1 DG4M4-32A-24DC-20-JA-S46
166 HYITL—F 1 DGME-03-JA-20-R-J
165 BMxXvyyTHRry 1

164 Km¥vryJ 1

163 BEEXT— 1

162 Y—E—g—hiN— 1

161 Y —% 1) 7ASSY 1

E#S| @ fih % M B | E% | E8 fis %




V—x ) 7Bk

200 FEIyv— 11 M8

199 FIyv— 6 M10

198 FIviv— 4 M16

197 FIyv— 2 M20

196 vy TR FRSPT v — 3 M8

195 POy v— 2 M8

194 Py v— 6 N10

193 <ty b 1 MI0x1.5 158
192 UFv b 2 M20x2.5 158
191 Xy v TR b 2 M6x1.0 L=35
190 vy TRk 4 M6x1.0 L=45
189 ¥y TR E 2 M8 x1.25 1L=50
188 *rv TR+ 3 M8 x1.25 L=25
187

186 AR+ 2 M8 x1.25 L=20
185 Ayl 92 b M10x1.5 L=25
184 Y2y 9 4 N16x2.0 L=30
183 Fr v TR b 1 M20x 2.5 L=150
182 FYR=9 I 1 PT1/8

181 VAV VING v i 1 3/8

180 Ty 2 ST-BU 3/8-1/4
179 T REEF 2 SSTL 3/8

178 F—X#F 1 ST 3/8

177 #F 1 STN 3/8

176 =y TN, 45° 2 1035-1/4

175 —y I, 45° 1 TR35A 3/8x1/4
174 =y N, TKR— 5 1033-1/4

173 —y T, TIH— 1 TR33A 3/8x1/4
172 —9y I, AbL—F 2 1013-1/4

171 AbL—4—TF55 1

&S & % B3 {ii




Y—Xx U7 B

20C Urvy 6 M8
20B Bhik o L 3

20A BERTISTy b 1

#HS| m fin % M B | B =

30-2




F v/ —pHE

=417 Y—F—4—
HAIPISE 2 ETRIET

&) @)
@3
D s
2 %/F
Y=Y -
FAEPSE
9

w @ °

29

210 Fr—oF v vFr— 1
209 A7ohy b4 ETL—F 2
208 Aoy b 1
207 AIAyry b x¥ Tk 1
206 TAN—Nhii— 1
205 7Y Thin— 1
204 N—RILF—(L) 1
203 NR—HENF—(F) 1
202 FxIY—IN—_R—R 1
201 Jy—E—8—252% 1
HS5 m & A £ M H | B | EE ] s




Fx Y — Bk

240

239

238 F—0—ty b 1 M5x1.0 L=8
231 ny9ty b, Y=Y ¥—kA 1 AN 10

236 hR, Y=Y oH— 1

235 EDye— 4 M10

234 Py v— 4 N6

233 Xy TR FRSPT Y S — 8 M10

232 POy — 4 M10

231 vy TR FRPT Y v— 2 M14

230 SPIy x— 1 M16

229 Aty b 1 M10x1.5 27
228 <ty b 1 M16x1.5 158
221 *r v TR b 18 M6x1.0 L=15
226 Fry TRk 6 M8x1.25 L=60
225 e P Y1 8 M10x1.5 L=30
224 Xy v IR E 2 M14x1.5 1=35
223 Ak b 4 M10x1.5 L=35
222 7RI 1 M10x1.5 L=100
221 =y, TIK— 1 TR33B 1/8x1/4
220 *— 1

219 . el | 1 SDR-70

218 _7Y2y 1 682477

2117 J—Fx—32 1 404" 51P

216 FroY—n— 1 902SSMRQ114
215 Abyii-B, Y=Y o¥— 1

214 Abyrf—A, Y=Y oH— 1

213 Oy FEY, Y=Y 49— 1

212 Fx—2H—F 1

211 Fr—Y7 V%A E 1

H#S| @ A £ H OB | B =1 i




rsua— Vg — - FEiie v FEE

250 R—RF7H TR — 1 1006-1/2
249 Usnq4 7 1
248 BLVAATILR 2 3/8
241 yy—22,83L7 1 RD6P-10/400
246 R4y bFvy80LT 1
245 $41) St —"Tsy SraB 2 SPB-506040
244 DY F—=TySah 2 SPB-506050 GEINT &)
243 DUdwia 1 #ifEFH MB8040DU
242 HR=Y) Y ¥=Y—Ey b 1 fifE
241 sa— 48— 1
EHS| M An 4 M OB | @A% = {ifs %




yua—v ) A — - FEiie y B

270

269

268

267

266

265

264

263

262

261 RAOy FIvia 2 SPB-405040 GE /N T &)
260 BERBO v F 1 ElE =X

259

258

257 Foviv— 4 M6

256 *ryvFHRIE 4 M6 x1.0 L=50
255 F vy TR+ 2 M8 x 1.25 L=50
254 JYR=vTIL 4 PT1/8

253 Jvi oy 1 ST-BU 1/2-3/8
252 =w A, TILBR— 2 1033-3/8

251 7H T —, TIR— 1 1034-1/2
B M B A % # 8| B | EE fifi %




A5 RV Yo FE— )= X —FE

280

279

2178

271 =y FI, TIR— 3 1033-1/4
276 Z—w I, AL—F 1 1013-1/4
275 A Clfi 4 H50

274 BEIvia 2 SAR4-30
273 ho— RF4FYYUEH— 4

272 234 FY) VE=Y=IFy b 1 fHitE A
271 25 B i — 1

BE W & it £ " | @k | EE {if %




A5 RV Y UoF— e V=) X —B

290

289

288

287

286

285 FYR=w T 2 PT1/8
284 TILRBF 1 SSTL 1/4
283 Tydra, Y= o~ 2

282 Y= == bFy b 1 i 1&
281 Jy— o — 1

BE| & it % # B | B B ]

36




n—& ) — A A~ )VEHH

300 ¥ 1 STN 3/8

299 =y T, T)HR— 1 TR33A-3/8 x 1/4
298 =y T, T)H— 1 1033-3/8

297 =y I, TIKR— 4 1033-3/4

296 =y I, AL—F 1 1013-3/8

295 THETHa— 3

294 A—AY—J392599Y 1

293 A—42y—J75% 1

292 AANLY—ILFY b 1 e

291 A A ~JLASSY 1

BE| & A & # OB | Ex 2 i %




n—& ) — A A ~YLVEHH

310

309

308

307 EOYv— 3 M8

306 Freyv IR E 2 M5x0.8 L=15
305 Xy TRV b 3 M8 x1.25 L=25
304 Ey 2 6

303 RARF TSI 2 3/8

302 RARSTS T 1 3/4

301 F—RiF 1 ST 3/8

S| M AR % M B | @k = L]




Y=g

320 E 3 STN 3/8

319 =y TN, 45° 1 1035-1/4

318 =y T, TILR— 1 TR33A 3/8x1/4
317 =w I, TILHR— 2 1033-3/8

316 —y I, RAkL—F 1 1013-3/8

315 Fruli 1 1CV-03RC-05
314 —— KL% 1 NB20SK

313 Y—F—R—R)—T 2

312 V—E—R—THTH— 2

3N J—E—H— 1 filife A

ES| & i £ # &' | @R = {i %




V) ——4 —

330

329

328

321

326

325

324

W7y v—

323

TILHREF

SSTL 3/8

322

F—XWF

NN |

ST 3/8

321

1 F

STRN 3/8x1/4

LEE:

Ll

fi




BELS— - U L—BAE

3
Ol
e
N| &N N v 11&
g
i1
D
m| <
= >
| < al 3
= = = T T
© w» w o_.v_
Noodlod ] J S E
NN N D L |
<N N s £
NN NN |
W
og
o| o o ~ © w = o o = O
I M @ » ® 9 o o M ®
& M M M o ¢ ¢ ™ o o




BELN— - U L—BAE

350

349

348

347

346 Eea—X 1
345 Iy L— 5P 2
344 1JL— 8P 3
343 Ea—XYsy b 1
342 i) Le—34w b BP

341 JL—Vry bk 8P 3
EHS| m AR f M H | A% | BEE




@ EEHMI K=

AL iEE + AR R IR PR = 8T Hh D2
TEL (015)576-2183
FAX (015)576-2756

WS—1 ver.1.0
201548818



